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Algla AHSGE Practice (7 topics - ID 514)

Multiple Choice
Identify the letier of the choice that best completes the statement or answers the question.

I. What is the equation of the line shown in the graph?
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a. y=x-2 b y=—x-2 ¢c. y==x+2 d. y=x+12

2. What is the cquation ol the line passing through the points (2, 5) and (4, 6)?
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a. v=2x+1 b y=-x+4 ¢ y=—x+06 d y=-2x+9

Which of these inequalitics describes this graph?
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A, —d<xy<3 b —4<x<3 ¢c. 4<x<3 d. 4<x<3

4. What is the equation of a line with slope : that passes through the point (=4, —5)?
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a. y=-y-— b. y=Ty-7 ¢ y::xAS d. y::.\‘~2

5. What is the equation of a line with slope =2 that passes through the point (0, —4)?
a. y=-2v—4 b, y=-2x-2 ¢. y=-2x+8 d. y=-2x

6. Given: pll g, mz1 =40° What 1s mZ£27?
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a. 30° b. 40° ¢. 50° d. 140°

7. A circular sundial has a circumference of 327 inches. What is the area of the sundial?
a. 256w square inches b, 10247 square inches ¢. 256 square inches d. 1024 square inches
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